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BHEREI19705F, FEARAVEEIRT ARPANET KIEARE, E—FRMNERAARR4 NS BRI E SR R LZ AT
RENMBEINER, BERAESE, YIEEIMNE,

ARPANET BRI AIER T RS F ZBRNEE, BRFINATOROMERSHIMRE. —RAITER
NSRS BERTAF ARG, TERE LN UERRSHONAZRT. S5, REREIMN
FHENB PN EEYNAFARNERERER, FiVRERIRES AR —EEEIEEEEE,
(5 BIHERS T IR R P BB E A E TR,

SON B—FPEEPTUEHIRIRBIRNT, ZHIRFRT LA EEREN BRSNS AIERE SR, I
HEEIRINENEERER, XtER soN Bz —, EEEEBEREAM L, sonHttiES
. BEHTAYRRERES.

EERESZH, AREEE, KMESPEEAE TR0, BaiTriier, 2SR
ryu.topology.api SKENMIZEIGHN, FHTEBEE/DRIESH,

BRI —ERRRIISE, EXLRES—F, REFIEFFIA LLop 1 Echo HUEENERE
ERAJRE, FTERES/ I,

1970FRIMEREH R RE AR, BERE RO RESEIRRRS. ELRES"H, 7§
FIEHBATENIER T, RISEESEE —E B 28I HRRE.

LLDP HMYAE soN T ZHINA, PIINARERHRELER, SHRATAIIMESHRH, WEHKRE
SE, FERNNEZE, TUSTEMITEFHR LLop BRFNEILH,

Bl RO HEEEE

AT RHRSEIER, PR D PRAMAIRENNERN,. TEETHSIIRERE, XERTET T
PR/E4RSEIaESS .

X—EPDAGLIRSE, FRTEKX, REEZFIA.
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HEFMEEN

EHIRTE TR BHRING, AR M TRINED T, WSRINEEREEN. R
TR AIEXRIER.

14888361

V&M ryu.topology.api Y get_all_host. get_all_Tlink. get_all_switchZFEEL, FHaJLIFE
BERHIIEE, TLUETIAUIBIRTEY Topodiscover. py AEMEEH. (E: 1517 ryu BN

& --observe-Tinks %%, )

sudo mn --topo=tree,2,2 --controller remote

ryu-manager TopoDiscover.py --observe-Tinks

from
from
from
from
from
from
from
from
from

ryu.

ryu

ryu.
ryu.
ryu.
ryu.
ryu.

ryu

ryu.

base import app_manager

.ofproto import ofproto_vl_3

controller.handler import set_ev_cls

controller.handler import MAIN_DISPATCHER, CONFIG_DISPATCHER
controller import ofp_event

Tib.packet import packet

Tib.packet import ethernet

.Tib import hub

topology.api import get_all_host, get_all_link, get_all_switch

class TopoDiscover(app_manager.RyuApp):
OFP_VERSIONS = [ofproto_vl_3.0FP_VERSION]

def

def

__init__(self, *args, **kwargs):

super (TopoDiscover, self).__init__(*args, **kwargs)
self.dpid_mac_port = {}

self.topo_thread = hub.spawn(self._get_topology)

add_flow(self, datapath, priority, match, actions):
dp = datapath

ofp = dp.ofproto

parser = dp.ofproto_parser

inst = [parser.OFPInstructionActions(ofp.OFPIT_APPLY_ACTIONS, actions)]
mod = parser.OFPFlowMod(datapath=dp, priority=priority, match=match,

instructions=inst)

@set
def

dp.send_msg(mod)

_ev_cls(ofp_event.EventOFPSwitchFeatures, CONFIG_DISPATCHER)
switch_features_handler(self, ev):

msg = ev.msg

dp = msg.datapath

ofp = dp.ofproto

parser = dp.ofproto_parser

match = parser.0OFPMatch()
actions = [parser.OFPActionOutput(ofp.OFPP_CONTROLLER,

ofp.OFPCML_NO_BUFFER) ]

self.add_flow(dp, 0, match, actions)
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def _get_topology(self):
while True:
self.logger.info('\n\n\n")

hosts = get_all_host(self)
switches = get_all_switch(self)
Tinks = get_all_link(self)

self.logger.info('hosts: ")
for hosts in hosts:
self.logger.infoChosts.to_dict())

self.logger.info('switches:")
for switch in switches:
self.logger.info(switch.to_dict())

self.logger.info('Tinks:")
for Tink in T1inks:
self.logger.info(link.to_dict())

hub.sTeep(2)

2 SRR TR

LLDP(Link Layer Discover Protocol) BNfEESERIUMNNY, Ryu FEEFIFA LLDP KIILZIGEN,
LLDP #EIEAELAAMIM, EAa T E., HEFRRERIBA Lop a3k, chassis ID TLV, Port ID
TLVFITime to Tive TLV@=NEHIFE, DAIRFIMITRF (EREMNPEIM—FTR) | in
AsS#TTL,

Ether- | Chassis | Port Ul End of | Frame
Dst | Src to | Opt.
Preamble mac | MAC type: ID ID live | TLvs LLbPDU | check
0x88CC TLV TLV Y TLV seq.

ETRNEE Ryu IAFIA Lo LILHER, RIRBM openFlow ATRMiEZEEHIRE £, WNTE:
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SDN

Controller
Packet-Out Packet-In
with LLDP pkt with LLDP pkt
LIDP pkt:
LLDP pkt: Chassis ID=51
Chassis 1D = 51 Port 1D =Port1 .
Port ID = Port 3 . ,
witch witch
; Slc = & > 52':
Port 3 Portl Port 3 Port 1
1
Port 2 LLDP pkt: Port 2
Chassis 1D =51
Port ID = Port 2

1. SDN ¥2#I88H1E Packetout JHEM s1 =MNw495 5041 LLbr #3EE, EH®% chassis 1D
TLV A Port 1D TLV BRIEA s1 MY dpid FliwOS,;
2. IEHIBS AR s1 R ARR, MBI BM controller inWEIRY LLDP ZUEE M MBAIRS

MimO&RIEHE;
3. RIS AR s2 R ARE, MEMU: BMIE controller HWEIAY LLDP BURE RIXLETE
HEs;

4. IHIEREIS AT LLop BUREE, SRINEAYIRSHAL, RiRO, EBITKEIRY packetIn HERNER
ROSZHEAAI B RO,

3. EKENMSKR

FHAREBENRIELSERE, EHREMAERNEN. ZITRIERY NetworkAwareness. py B, R
HTREREER host MtHAT, XHBNMARENIARSHR. (RAILIE mininet FIE(T pingall 5L, <
BAYENRT tove EUREE, IXIFHEHIZRHEEHERIMEN. SAGIRIERE ping NEB, BEAERFFFH
iRB TRBHNE.

ITE RV HER
BB

TESE—MRENT AL LRI network_awareness. py M4, S MRET
shortest_forward.py ., #ZINBIER, LisHIESEINERET i pv4 IRZAY Packet_1In jHERT, A
networkx ITHEREE (BAJLIBITEH, than@AREHIEE) | AEEENNER TNREIERIIIR

., BERSEALEENEES.

i¥&: shortest_forward.pyRCEIRE, iSHRIBIRIESE
Ie—h MBI ER A AEX  handle_arpRRESFENNZN 7R ED
aJ,
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ryu-manager shortest_forward.py --observe-Tinks

# function in network_awareness.py
def shortest_path(self, src, dst, weight="hop'):
try:
paths = Tist(nx.shortest_simple_paths(self.topo_map, src, dst,
weight=weight))
return paths[0]
except:
self.logger.info('host not find/no path')
# function in shortest_forward.py
def handle_ipv4(self, msg, src_ip, dst_ip, pkt_type):
parser = msg.datapath.ofproto_parser

dpid_path = self.network_awareness.shortest_path(src_ip,
dst_ip,weight=self.weight)
if not dpid_path:
return
self.path=dpid_path
# get port path: hl -> in_port, sl, out_port -> h2
port_path = []
for i in range(l, len(dpid_path) - 1):
in_port = self.network_awareness.link_info[(dpid_path[i],
dpid_path[i - 1])]
out_port = self.network_awareness.link_info[(dpid_path[i],
dpid_path[i + 1])]
port_path.append((in_port, dpid_path[i], out_port))
self.show_path(src_ip, dst_ip, port_path)
# send flow mod
for node in port_path:
in_port, dpid, out_port = node
self.send_flow_mod(parser, dpid, pkt_type, src_ip, dst_ip, in_port,
out_port)
self.send_flow_mod(parser, dpid, pkt_type, dst_ip, src_ip, out_port,
in_port)

R ENIMS, BIJLUR ping ATREEPSHILH host not find/no path, XETFIEEWS.

SEISMES—: BRBIERRE

BRI —ERRIRVEEE, MERNITESOSXEHIREFTEEER/N, BLads (FHbiE)
FUA LLDP 1 Echo FIEENEZHEAVATEE, EMEILINOER EEE—EINE, AERETHETE
S/NFERRR, BEMMERE, HHE—%M soc B MiT AFERENIRER, BTG R SRIRE, F
F8 Ping B RTT IRIE{REVLEER,

MEFEER: HEIRAYHE

o NEHKATERNBEATSE TE
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Controller

AN

N . S

S1 S2

EHIES ST ERAERY LLop IR TARLE 51, s1iEkRiE s2, s2 HERIEHIEE (RINBLIEELAIE
&), RIEEIROR ER N R EIRIET T R HEHIEEEE s1 3l s2 BiREHEHIRRAIRIRE, iC9
11dp_delay_s12

Rz, EHIZRE s2 B s1 BiREH=HIZRAIBIE, iCJ9 11dp_delay_s21

I EHEHI 28 A RAYEChoIR N G BNEIEEHI8E, FHATeTLARIA Echo Request/Reply HRSCKH
$EHIEEE] s1. s2 BIERAYEE, 09 echo_delay_s1, echo_delay_s?2

M) s1 Z s2 AYATZE delay = (11dp_delay_s12 + 11dp_delay_s21 - echo_delay_s1 -
echo_delay_s2) / 2

A, BAIFEXS Ryu I TMERL:

1. ryu/topology/switches.py i Portbata/__init__()
PortData IEFRATENANHAER, HAJFEIENM se1f. deTay BIMHCR EAARY 11dp_delay
self.timestamp /3 LLDOP BERIERIHAT ERIRTEIRL, BNRIXAEIEEERID

class Portbata(object):
def __init__(self, is_down, 1ldp_data):

super(Portbata, self).__init_(Q)
self.is_down = is_down
self.11dp_data = 11dp_data
self.timestamp = None
self.sent = 0
self.delay = 0

2. ryu/topology/switches/T1dp_packet_in_handler()

11dp_packet_in_handler O 4 EEKZIRY LLor B, EXERKE! LLoP AT IEIBRZE ZIXRTHY
BTIEBEEDJS 11dp_delay , HITF LLDP IRSHIRIT AL —BEEIELATEHISS, Fl1E 11dp_delay TAK
1% LLDP BXI M AYRZ A i

@set_ev_cls(ofp_event.EventOFPPacketIn, MAIN_DISPATCHER)



def Tldp_packet_in_handler(self, ev):
# add receive timestamp
recv_timestamp = time.time()
if not self.link_discovery:
return

msg = ev.msg
try:
src_dpid, src_port_no = LLDPPacket.lldp_parse(msg.data)
except LLDPPacket.LLDPUnknownFormat:
# This handler can receive all the packets which can be
# not-LLDP packet. Ignore it silently
return

# calc the delay of 11dp packet
for port, port_data in self.ports.items():
if src_dpid == port.dpid and src_port_no == port.port_no:
send_timestamp = port_data.timestamp
if send_timestamp:
port_data.delay = recv_timestamp - send_timestamp

SRR EMEEEMmERSE Ryu, EREBFTFIETT sudo python setup.py install
3. 3B 11dp_delay

M ESTREITHERTZERY AP 1, FlFE Tookup_service_brick 3REXZEIIEFEIEITRY swi tches BYSE
5 (BPEBR1 20 ERA MEA02E) | R TRIA R SAEBHERAY 11dp_delay

from ryu.base.app_manager import lookup_service_brick

@set_ev_cls(ofp_event.EventOFPPacketIn, MAIN_DISPATCHER)
def packet_in_hander(self, ev):
msg = ev.msg
dpid = msg.datapath.id
try:
src_dpid, src_port_no = LLDPPacket.lldp_parse(msg.data)

if self.switches is None:
self.switches = lookup_service_brick('switches")

for port in self.switches.ports.keys():
if src_dpid == port.dpid and src_port_no == port.port_no:
T1dp_delay[(src_dpid, dpid)] =
self.switches.ports[port].delay
except:
return
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sudo python topo_1970.py
[N

o EEAIREARN A, MEHREEXO,

ERT

o mHEISETE.,
o BRUERINECZMERINUGFINRT, FFE CRNEER STURENLIGIE,

r T L
Terminal - test@sdnexp: ~/Desktop/exp2/Arpanet19723 + X
)M 7 M 7 INage est_f

SEIR(ESS . BRUERMIE

19705 RIMIBIR A AR RIHARRRY, IBEHERRAI S in A EHFRERIMRES. BRIt Ryu app , £E
F—HIEM ESCAPHERSIENRRILE . SSREIEEN, MR REREPTERE
AUBRIE, LHIREIENESE, BEIMEERIITTERRAEE.

BELEIREEN EFRTE (1) BEITERE (2) R/EEERENRT (3) MERHSIERERRE
AU %SRS,
{E53515% 88
o IR SEIRHE
mininet FAJLARE Tink down 0 Tink up SRIEHISEESEIPEFIIE RS :

mininet>Tink sl s4 down
mininet>Tink sl s4 up

o 1B AR IR
PERIRNSHUARY, PR REIRIRSH ST, Nr-4in RSN SEE, B
EventOFPPortsStatus , BITEHEHSRIZITIIEREGET—IEE, MATLERBUASEEZRIER.,
PUTHERAIRLIE,
ryu E#HY EventoFPPortStatus SHAMBRETF /sdn/ryu/ryu/controller/ofp_handler.py

&, EROISEEE 73, (RETLALALEY S, FERAOAAB-RSEIRTEERT EventorPPortstatus 4L
HEREL.

@set_ev_handler(ofp_event.EventOFPPortStatus, MAIN_DISPATCHER)
def port_status_handler(self, ev):
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msg = ev.msg
datapath = msg.datapath
ofproto = datapath.ofproto

if msg.reason in [ofproto.OFPPR_ADD, ofproto.OFPPR_MODIFY]:
datapath.ports[msg.desc.port_no] = msg.desc

elif msg.reason == ofproto.OFPPR_DELETE:
datapath.ports.pop(msg.desc.port_no, None)
else:
return

self.send_event_to_observers(
ofp_event.EventOFPPortStatecChange(
datapath, msg.reason, msg.desc.port_no),
datapath.state)

e OFPFC_DELETE jHE

Sa s hIEinmzRAY oFPFC_ADD a5 A, OFPFC_DELETE HERTFMBRISIRA TS ICECIAYRT
BRE.

R FRI0FOMIERERE T oFPFlowvod IEE., B RFTREFUE add_flow) REL, BIRT4ERL
delete_flow() EAZL,

e PpPacket_In HENSEFR

ERRRREEHRAENEN, MPRZRIDAIHEER_ EATE T LARXRRIER, T—RRIVE
PLECEOAMRIN, EEHIREAIE packet_iniHE, EHISRETEA TAR/IIERER.

ERTH

SDC ping MIT, —FHRIGIFMIER/INER, RTT#) 128ms,

s9 1 s8 ZERVHESIIE S, EFMEFIFIIRIES/NER, RTT£] 146ms ,
s9 0 s8 ZARYHEMETETIRE G, EFmGEITIER/\IZ.
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BIEIEEREA ryu SEIFIA LLop FHEE R TIRLEIRFN.

ryu EUARAIHEFNISTE, BXEREAAIRTEROAIE LLoP HUEE, 33T Fat tree FRIEHHFH
ki, InORMERTIEHAENKE, BUSHTRESRRERE. BERERETLSAHINEISE
TR0, ILEHIRRAIXRY LLoP SUREMEMIE AV ERR?
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